Hoja 5.5 Materas 4° ESO F&rMates

Resueltos (versiof, puede contener errores)

3x-1 x-1 <ox—1
2 3

OX—-3-2x+2<12x-6 = OX—-2Xx-12Xx<-6+3-2

1.-

-5x<-5 = 5x>5 = Xx>1

2.- 4x+9—2(3x—5)2XT+1—1

12x+27-18x+30=> x+1-3 = 12x-18x—-x=21-3-27-30

—-7x=2-59 = 7x<59= x55—79

x-9_Bx-13_4x o
5 15 3

3X—27-5x+13< 20x +150 = 3X-5x-20x<150+27-13

—-22x<164 11x=282 —> XZ%

2X-5_4x-1 __5X
9 6 18
4x -10-12x + 3< -5x = 4x-12x+5x<10-3

-3x<7 = x>—%

3-5x_1-8x_23-10x _
3 4 12
12-20x-3+24x-23+10x<0 = —20x+24x+10x<-12+3-23

14x <14 = x<1

0

6.-  (3x+1f -5x*+2x < (2x-1)
OX? +BX+1-5X% +2X < 4x% —4x+1 = 9x® =5x® —4x*> +6X+2X +4x <0

10x<0 = Xx<0

7-  (x-3)(x+2)20  Raices del polinomio:x, =3, x, =-2

(=0, =2) | =2} (=2,3)| {3}| (B, +x)
+

(x+2) — 0 + +
(x=13) — — — 0 +
(x=3)(x +2) + 0 - + 0

Solucién: xO(-, —2|0[3,+ )




8- 3(x-6)(x-1)<0 Raices del polinomio: % =6, x,=1
(=, 1) | {1} [(1,6) {6} | (6 +)
(x-1) — 0 + + +
(x —6) — — — 0 +
x—6)(x—-1) + 0 - 0 +
Solucion: xD[l 6]
9.- X* -6x+8<0 Raices del polinomio: X =4, X,=2
(=0, 2) {2} [(2,4) {4} | (4, +o)
(x=2) - 0 + + +
(x—4) — - — 0 +
x* —6x+8 + 0 - 0 +
Solucién: x0(2, 4)
10.- (2x-1)(3x+5)<0 Raices del polinomio: x, =1/2, x, =-5/3
(-, -53) |{-53} [(-53,¥2) [{¥2} |(¥2,+x)
(3x +5) - 0 + + +
(2x - 1) - - — 0 +
(2x—1) (3x +5) + 0 - 0 +

Solucion: x0O[-5/3,1/2)

11- -6x*-x+1>0 = 6x°+x-1<0
Raices del polinomio: x, =¥/3, x, =-1/2
(-, -¥2) | {-¥2} [(-¥2,33) |{¥3} |(¥3,+x)
(2x +1) - 0 + + +
(3x — 1) - — - 0 T
(2x+1) (3x—-1) + 0 - 0 +

Solucién: xO(-1/2, 1/3)

12.- x*-9<0 Solucién: xO(-3, 3)

13.- x*+10x+25<0 = (x+5f° <0 No tiene solucién
14.- x2-2x+1>0 = (x-1?>0  Solucién: x0 O -{ 1}
15- x*+x-2<0 Solucién: xO[-2, 1]




